Trig ldentity Verifications

1] cos@dsecd =1 2] tanfcotd =1

3] sin@secd =tan@ 4] sin@cot & =cos &

5] BCX_ oot x 6] tan gcos g =sin g
Sec X

7] sint  cost _, 8] 1-2sinu=2cos’u—1
csct  sect

9]  (+sina)l-sina)= 10]  (l-sin*t)L+tan?t) =1

2

sec” a
2
11] ﬂ:cotze 12]  sinX+cosXcot X =CSC X
1+tan“ @
13] sint(csct—sint) = cos®t 14] cott+tant =csctsect
15] csc@—sin@=cot@cosf 16]  cosé(tan @ +cotd) =csco
2
17] Ll:1=sin2u 18] (tanu +cotu)(cosu +sinu) =secu+cscu
sec“u

2
19]  (cos* x—1)(tan® x+1)=1-sec*x  20] w =2csc’y -1
sin’y

SECX—COSX tan x

21]  sec®@csc® @ =sec’ @+csc’ O 22] =
tan x Sec X
1+ in . .
23] _COSt+ SIN__ 5 esct 24] tan’a-sina=tan’asin’«a
sint  1+cost
2
25] 1+ta2n V=csc2v 26] cos xcot x :cotx+cosx
tan®v CotX—CcosSX  COSXcotXx
cotd —tan
27] (secu—tanu)(cscu +1) =cotu 28] Mzcsce—secﬁ
sin@+cosé
cota -1 1
20] Y7 _cota 30] S _esep

1-tana tan S +sin g
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49]

cot*@+csc*@=—-cot>’0-csc’@  32]  cos’ @+sin® @ =sin® @+cos’ O

cos 1
_’B =sec f+tan S 34] ————=cscy+coty
1-sinpg cscy—coty
tan®*x _ 1-cosx 36] cotx _ cscx—1
secx+1  cosx cscx+1  cotx
cotu-1 1-tanu 1+secx
= 38] _L=cscx
cotu+1 1+tanu sin X+ tan x
2 2 . 4 4 sint
sec” y +tan” y = (1+—sin” y)sec” y 40] 1—COSt:CSCt+COtt
sin2x ) (s x )’
(sin® +cos’ 0)* =1 42] - — | =1
tan® x ) | cot® x
cos® x —sin® x . sin@+cos o cos’ @
——————=1+sinxcosx 44] 5 =—
COS X —sin X tan°d-1 sin@d—coséd

(csct —cott)*(csct +cott)* =1 46]
(acost —bsint)® + (asint +bcost)* = a* +b?

sinacos f+cosasinf tana+tan f

sin®v+cos’v=1-3sin’vcos’v 48] — =
cosacos f—sinasin . 1-tanatan g

This one was busted 50] —In|secu—tanu|=In|secu+tanu|




